

$$\mathbb{L}^1 \dots \mathbb{L}^k \frac{z}{k} \Delta_w^{-\lambda} = z \Delta_w^{-\lambda} \sum_{\mathcal{I}}^{\text{part}} \lambda^{|\mathcal{I}|} \prod_I \frac{1}{|I|} \sum_{\pi}^{I!} \overline{\mathbb{L}^{\pi_1} w^{z \dots} w^{z \dots} \mathbb{L}^{\pi_{|I|}} \mathfrak{X} w^z}$$

$$\begin{aligned} \mathbb{L}^1 \frac{z}{k} \Delta_w^{-\lambda} &= (-\lambda) z \Delta_w^{-\lambda-1} \overline{\mathbb{L}^1 \dot{w}^*}^{1-z\dot{w}} \underline{\det} = (-\lambda) z \Delta_w^{-\lambda-1} z B_w \text{tr} \overline{\mathbb{L}^1 \dot{w}^*}^{1-z\dot{w}}^{-1} \\ &= \lambda z \Delta_w^{-\lambda} \text{tr} \mathbb{L}^1 \overline{\frac{1-w\dot{z}^*}{-1} w} = \lambda z \Delta_w^{-\lambda} \mathbb{L}^1 \mathfrak{X} \overline{\frac{1-w\dot{z}^*}{-1} w} = \lambda z \Delta_w^{-\lambda} \mathbb{L}^1 \mathfrak{X} w^z \end{aligned}$$

$$\overline{\mathbb{L}^k \dots \mathbb{L}^0}_{1+k} \mathbf{g}_w^0 = \overline{\mathbb{L}^k \dots \mathbb{L}^1}_k \overline{\mathbb{L}^0}_z \mathbf{g}_w^0 = \overline{\mathbb{L}^k \dots \mathbb{L}^1}_k \overline{\mathbb{L}^0}_{z B_w^{-1} w} B_w^{1/2} z \stackrel{=}{=} \sum_{\pi}^{(1+k)!} \overline{\mathbb{L}^{\pi_0} \dot{w}^* \dots \dot{w}^* \mathbb{L}^{\pi_k} w} B_w^{1/2}$$

$$\mathbb{L}^{k+1} \mathbf{g}_w^0 = (1+k)! \overline{\mathbb{L}^{\dot{w}^* \dots \dot{w}^*}}_{k+1} w B_w^{1/2} = (1+k)! \overline{\mathbb{L}^w B_w^{1/2} \overline{\dot{w}^*} \dots \overline{\dot{w}^*} \mathbb{L}^w B_w^{1/2}}_{k+1}$$

$$\mathbb{L}^n \frac{0}{n} \Delta_{-w}^{-\nu} \mathbf{g}_w \eta = \sum_{0 \leq m \leq n} \begin{bmatrix} n \\ m \end{bmatrix} \overline{\mathbb{L}^{n-m} \frac{0}{n-m} \Delta_{-w}^{-\nu} \mathbb{L}^m \mathbf{g}_w \eta}$$

$$= \sum_{0 \leq m \leq n} \begin{bmatrix} n \\ m \end{bmatrix} \overline{\mathbb{L}^{n-m} \frac{0}{n-m} \Delta_{-w}^{-\nu} m!} \sum_{1 \leq k \leq m} \sum_{|\beta|=m}^{\mathbb{N}_{>}^k} \overline{\mathbb{L}^{\beta_1} \frac{0}{\beta_1} \mathbf{g}_w \mathfrak{X} \dots \mathfrak{X} \mathbb{L}^{\beta_k} \frac{0}{\beta_k} \mathbf{g}_w}_{k-1} w \eta$$

$$= {}^{w_2} \eta_2 \sum_{0 \leq m \leq n} \begin{bmatrix} n \\ m \end{bmatrix} \overline{\mathbb{L}^{n-m} \frac{0}{n-m} \Delta_{-w_1}^{\nu} m!} \sum_{1 \leq k \leq m} \sum_{|\beta|=m}^{\mathbb{N}_{>}^k} \overline{\mathbb{L}^{\beta_1} \frac{0}{\beta_1} \mathbf{g}_w \mathfrak{X} \dots \mathfrak{X} \mathbb{L}^{\beta_k} \frac{0}{\beta_k} \mathbf{g}_w}_{k-1} w_1 \eta_1 = {}^{w_2} \eta_2 \overline{\zeta_{\partial_z}^{\ell \cdot \ell 0 \cdot 0} z \mathbf{g}_{w_1}^{\nu} z \mathbf{g}_{w_1} \eta_1}^0$$

$$\underbrace{\mathbb{L}^\ell \cdots \mathbb{L}^1}_{\ell} \underbrace{\mathbb{L}^z \mathbb{L}^0}_{\ell} B_w^{-1} = \sum_{\pi}^{(1+\ell)!} \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_\ell} z B_w^{-1} = \sum_{\pi}^{(0 \cup L)!} \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_\ell} z B_w^{-1}$$

$$\zeta^z B_w^{-1} = \overbrace{1 - z\dot{w}^*}^{-1} \zeta \overbrace{1 - \dot{w}^* z}^{-1}$$

$$\begin{aligned} \Rightarrow \mathbb{L}^1 z \underbrace{\mathbb{L}^0}_{\ell} B_w^{-1} &= \overbrace{1 - z\dot{w}^*}^{-1} \mathbb{L}^1 \dot{w}^* \overbrace{1 - z\dot{w}^*}^{-1} \mathbb{L}^0 \overbrace{1 - \dot{w}^* z}^{-1} + \overbrace{1 - z\dot{w}^*}^{-1} \mathbb{L}^0 \overbrace{1 - \dot{w}^* z}^{-1} \dot{w}^* \mathbb{L}^1 \overbrace{1 - \dot{w}^* z}^{-1} \\ &= \overbrace{1 - z\dot{w}^*}^{-1} \underbrace{\mathbb{L}^1 w^z \mathbb{L}^0 + \mathbb{L}^0 w^z \mathbb{L}^1}_{\ell} \overbrace{1 - \dot{w}^* z}^{-1} = \underbrace{\mathbb{L}^1 w^z \mathbb{L}^0 + \mathbb{L}^0 w^z \mathbb{L}^1}_{\ell} B_w^{-1} \end{aligned}$$

$$w^z = \underbrace{\overbrace{1 - w^z}^*}_{-1} w = \dot{w}^* \overbrace{1 - z\dot{w}^*}^{-1} \Rightarrow \zeta^z \underline{w^z} = \dot{w}^* \overbrace{1 - z\dot{w}^*}^{-1} \zeta \dot{w}^* \overbrace{1 - z\dot{w}^*}^{-1} = w^z \zeta w^z$$

$$\underbrace{\mathbb{L}^\ell \cdots \mathbb{L}^1}_{\ell} \underbrace{\mathbb{L}^z \mathbb{L}^0}_{\ell} B_w^{-1} = \underbrace{\mathbb{L}^\ell}_{\ell-1} \underbrace{\mathbb{L}^{\ell-1} \cdots \mathbb{L}^1}_{\ell-1} \underbrace{\mathbb{L}^z \mathbb{L}^0}_{\ell-1} B_w^{-1} \stackrel{\text{ind}}{=} \sum_{\pi}^{\ell!} \underbrace{\mathbb{L}^{\ell} z}_{\ell} \underbrace{\mathbb{L}^{\pi_0} w^z \cdots w^z}_{\ell-1} \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1}$$

$$= \sum_{\pi}^{\ell!} \mathbb{L}^{\pi_0} \underbrace{\mathbb{L}^{\ell} w^z}_{\ell} \cdots w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} + \mathbb{L}^{\pi_0} w^z \cdots \underbrace{\mathbb{L}^{\ell} w^z}_{\ell} \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} + \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} \underbrace{\mathbb{L}^{\ell} z}_{\ell} B_w^{-1}$$

$$= \sum_{\pi}^{\ell!} \left\{ \begin{array}{ll} \mathbb{L}^{\pi_0} w^z \mathbb{L}^{\ell} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} & + \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\ell} w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} \\ + \mathbb{L}^{\ell} w^z \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} & + \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} w^z \mathbb{L}^{\ell} w^z z B_w^{-1} \end{array} \right.$$

$$= \sum_{\pi_{\ell-1}=1}^{(1+\ell)!} \mathbb{L}^{\pi_0} w^z \mathbb{L}^{\ell} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} + \sum_{\pi_{\ell-1}=\ell-1}^{(1+\ell)!} \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\ell} w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1}$$

$$+ \sum_{\pi_{\ell-1}=0}^{(1+\ell)!} \mathbb{L}^{\ell} w^z \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} z B_w^{-1} + \sum_{\pi_{\ell-1}=\ell}^{(1+\ell)!} \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_{\ell-1}} w^z \mathbb{L}^{\ell} z B_w^{-1} = \sum_{\pi}^{(1+\ell)!} \mathbb{L}^{\pi_0} w^z \cdots w^z \mathbb{L}^{\pi_\ell} z B_w^{-1}$$

$$\mathbb{L}^1 \dots \mathbb{L}^n \frac{\Delta_w^{-\lambda}}{n} \overline{\mathbb{L}^0 B_w^{-1} \mathfrak{K} b} =$$

$$\begin{aligned} \mathbb{L}^1 \dots \mathbb{L}^n \frac{\Delta_w^{-\lambda}}{n} \varphi &= \sum_{I \cup J} \overline{\mathbb{L}^I \frac{\Delta_w^{-\lambda}}{|I|} \varphi} \overline{\mathbb{L}^J \frac{z}{|J|} \varphi} \\ \text{LHS} &= \sum_{I \cup J} \overline{\mathbb{L}^{i_1 \dots i_k} \frac{\Delta_w^{-\lambda}}{k} \varphi} \overline{\mathbb{L}^{j_1 \dots j_\ell} \frac{z}{\ell} \mathbb{L}^0 B_w^{-1} \mathfrak{K} b} \\ &= \sum_{I \cup J} \sum_{k \geq 1} \lambda^k \sum_{\mathcal{K}}^{\text{k-part } I} \prod_{K \in \mathcal{K}} \frac{1}{|K|} \sum_{|K| \xrightarrow{\sigma} K} \overline{\mathbb{L}^{\sigma_1 w^z \dots w^z \mathbb{L}^{\sigma_{|K|}} \mathfrak{K} w^z}} \overline{\sum_{0 \cup |J| \xrightarrow{\tau} 0 \cup J} \mathbb{L}^{\tau_0 w^z \dots w^z \mathbb{L}^{\tau_{|J|}} \mathfrak{K} b}} \\ &= \sum_{I \cup J} \sum_{0 \cup |J| \xrightarrow{\tau} 0 \cup J} \overline{\mathbb{L}^{\tau_0 w^z \dots w^z \mathbb{L}^{\tau_{|J|}} \mathfrak{K} b}} \sum_{\mathcal{K}}^{\text{I-part}} \lambda^{|\mathcal{K}|} \prod_{K \in \mathcal{K}} \frac{1}{|K|} \sum_{|K| \xrightarrow{\sigma} K} \overline{\mathbb{L}^{\sigma_1 w^z \dots w^z \mathbb{L}^{\sigma_{|K|}} \mathfrak{K} w^z}} \end{aligned}$$

$$\begin{aligned} \zeta^z B_a^{-1} &= \frac{1 - \zeta^* a}{-1} \zeta \frac{1 - a^* \zeta}{-1} = \sum_m \sum_n \frac{\zeta^* a}{m} \zeta \frac{a^* \zeta}{n} = \zeta + 2\zeta^* a \zeta + 3\zeta^* a \zeta^* a \zeta + 4\zeta^* a \zeta^* a \zeta^* a \zeta + \dots \\ &= \sum_k k \frac{\zeta^* a \zeta^* a \dots^* a \zeta^* a \zeta}{\# \zeta = k} = \sum_k \underline{2k+1} \overline{Q_\zeta^k Q_a} \zeta + 2 \sum_k \underline{k+1} \overline{Q_\zeta^k Q_a} Q_\zeta a \end{aligned}$$

$$\zeta^z \zeta B_w^{-1} = (1 + \ell)! \zeta w^z \zeta w^z \dots^* w^z \zeta w^z \zeta^z B_w^{-1}$$

$$\begin{aligned} \sum_{\ell} \frac{1}{\ell!} \zeta^z \zeta B_w^{-1} z B_w &= \zeta^{z+\zeta} B_w^{-1} z B_w = \zeta^z B_{w^z}^{-1} = \sum_k \underline{2k+1} \overline{Q_\zeta^k Q_{w^z}} \zeta + 2 \sum_k \underline{k+1} \overline{Q_\zeta^k Q_{w^z}} Q_\zeta w^z \\ &\Rightarrow \begin{cases} \frac{1}{2k!} \zeta_{2k}^z \zeta B_w^{-1z} B_w &= \underline{2k+1} \overline{Q_\zeta^k Q_{w^z}} \zeta \\ \frac{1}{2k+1!} \zeta_{2k+1}^z \zeta B_w^{-1z} B_w &= \underline{2k+2} \overline{Q_\zeta^k Q_{w^z}} Q_\zeta w^z \end{cases} \end{aligned}$$

$$\sum_{\ell} \frac{1}{(1+\ell)!} \zeta^z \zeta B_w^{-1} = \sum_{\ell} \zeta w^z \zeta w^z \dots^* w^z \zeta w^z \zeta^z B_w^{-1} = \zeta^{w^z} z B_w^{-1}$$

$$\mathbb{L}^1 z \zeta^z B_w^{-1} \underline{\mathcal{E}_\omega^\nu} = \mathbb{L}^1 z \zeta^z B_w^{-1} \zeta^z B_w^{-1} \underline{\mathcal{E}_\omega^\nu} = \underline{\mathbb{L}^1 w^z \zeta + \zeta w^z \mathbb{L}^1} z B_w^{-1} \zeta^z B_w^{-1} \underline{\mathcal{E}_\omega^\nu} = \underline{\mathbb{L}^1 w^z \zeta + \zeta w^z \mathbb{L}^1} \zeta^z B_w^{-1} \underline{\mathfrak{K} \mathcal{E}_\omega^\nu}$$

$$\mathbf{1} \in Z \triangleleft \mathbb{C} \Rightarrow z \mathbf{1} = \sum_{\mu} \overline{{}^0 z \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$p \times q = \overline{{}^0 p \cdot q}$$

$$z \mathbf{1} = \int_{dw/\pi^d}^Z w \mathbf{e}_w^{-1} z \mathbf{e}_w w \mathbf{1} = \sum_{\mu} \int_{dw/\pi^d}^Z w \mathbf{e}_w^{-1} z \mathcal{E}_w^{\mu} w \mathbf{1} = \sum_{\mu} \int_{dw/\pi^d}^Z w \mathbf{e}_w^{-1} w \bar{\mathcal{E}}_z^{\mu} w \mathbf{1} = \sum_{\mu} \mathcal{E}_z^{\mu} \times \mathbf{1} = \sum_{\mu} \overline{{}^0 z \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$\text{Taylor } {}^{o+z} \mathbf{1} = \sum_{\mu} \overline{{}^o z \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$${}^{o+z} \mathbf{1} = \overline{{}^z t_o \times \mathbf{1}} = \sum_{\mu} \overline{{}^0 z \mathcal{E}_{\partial}^{\mu} t_o \times \mathbf{1}} \stackrel{\text{const}}{\text{coeff}} \sum_{\mu} \overline{{}^0 t_o \times z \mathcal{E}_{\partial}^{\mu} \mathbf{1}} = \sum_{\mu} \overline{{}^o z \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$\overline{{}^z p_{\partial T} g^n w g \mathbf{1}} = \sum_{\mu} p \times \overline{{}^z g \times_n^{z g} \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$w g \mathbf{1} = \overline{{}^{wg-zg} + z g \mathbf{1}} = \sum_{\mu} \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$\overline{{}^{\zeta} t \times \frac{w g^n}{T} \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}} = \overline{{}^{z+\zeta} w g^n \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}} = z + \zeta \underline{g}^{\delta n} \overline{{}^{(z+\zeta)g-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}} = \overline{{}^{\zeta} z g \times_n^{z g} \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$\Rightarrow \overline{{}^z t \times \frac{w g^n}{T} \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}} = \overline{{}^z g \times_n^{z g} \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$\overline{{}^z p_{\partial T} g^n w g \mathbf{1}} = \sum_{\mu} \overline{{}^z p_{\partial T} g^n \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}} = \sum_{\mu} \overline{{}^0 z t \times p_{\partial T} g^n \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}}$$

$$= \sum_{\mu} \overline{{}^0 p_{\partial} |^z t \times \frac{w g^n}{T} \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}} = \sum_{\mu} p \times \overline{{}^z t \times \frac{w g^n}{T} \overline{{}^{wg-zg} z g \mathcal{E}_{\partial}^{\mu} \mathbf{1}}} = \sum_{\mu} p \times \overline{{}^z g \times_n^{z g} \mathcal{E}_{\partial}^{\mu} \mathbf{1}}$$

$$\overline{{}^z \mathcal{E}_{\partial}^{\mu} \mathbf{1}} = \overline{{}^z \mathcal{E}_{\partial}^{\mu} |^z \mathbf{1}}$$

$$\overline{p_{\partial}^z g^w g^{\nu} g^{|z g \mathfrak{q}}}} = \sum_{\mu} p_{\mathfrak{K}}^z \overline{g \times \mathcal{E}_{\partial}^{\mu \mathfrak{q}}}}$$

$$\bigwedge_z^D \overline{g \times \mathcal{E}_{\partial}^{\mu \mathfrak{q}}} = \overline{z g \times \nu^z \mathcal{E}_{\partial}^{\mu \mathfrak{q}}} = \overline{z g \times \nu^z \mathcal{E}_{\partial}^{\mu |z g \mathfrak{q}}} \in Z_{\mathfrak{L}}^{\check{\mathfrak{C}}}$$

$$\Rightarrow \sum_{\mu} p_{\mathfrak{K}}^z \overline{g \times \mathcal{E}_{\partial}^{\mu \mathfrak{q}}} = \sum_{\mu} p_{\mathfrak{K}}^z \overline{z g \times \nu^z \mathcal{E}_{\partial}^{\mu |z g \mathfrak{q}}} = \overline{p_{\partial}^z g^w g^{\nu} g^{|z g \mathfrak{q}}}}$$

$$z \widetilde{F} = {}^{c+z\check{\mathfrak{l}}} F \Rightarrow \overline{\partial_p z \widetilde{F}} = \overline{{}^{c+z\check{\mathfrak{l}}} \partial_{\mathfrak{L} \times p} F}$$

$$\overline{\partial_{\mathfrak{K} \mathfrak{L}} z \widetilde{F}} = \overline{\mathfrak{L} z \widetilde{F}} = \overline{\mathfrak{L} \check{\mathfrak{L}}^{c+z\check{\mathfrak{l}}} F} = \overline{\partial_{\mathfrak{K} \check{\mathfrak{L}}} z \widetilde{F}} = \overline{\partial_{\mathfrak{L} \times \mathfrak{K} \mathfrak{L}} z \widetilde{F}}$$

$$\overline{\partial_{\mathfrak{K} \check{\mathfrak{L}}} z \widetilde{F}} = \overline{\check{\mathfrak{L}} z \widetilde{F}} = \overline{\check{\mathfrak{L}} \check{\mathfrak{L}}^{c+z\check{\mathfrak{l}}} F} = \overline{\partial_{\mathfrak{K} \check{\mathfrak{L}} \check{\mathfrak{L}}} z \widetilde{F}} = \overline{\partial_{\mathfrak{L} \times \mathfrak{K} \check{\mathfrak{L}}} z \widetilde{F}}$$

$$\overline{\mathfrak{L}^1 \dots \mathfrak{L}^n z^{\varphi} \mathcal{E}_{\omega}^{\mu}} = \sum_{I_1 \cup \dots \cup I_k = N}^{\text{partition } \mathcal{I}} \overline{z^{I_1} z^{\varphi} \dots z^{I_k} z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}} = \sum_{\mathcal{I}}^{\text{partition}} \prod_I \overline{z^I z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}}$$

$$\overline{z^{\varphi} \mathcal{E}_{\omega}^{\mu}} = \overline{\check{z} z^{\varphi} \mathcal{E}_{\omega}^{\mu}}$$

$$\overline{\mathfrak{L}^1 \mathfrak{L}^2 z^{\varphi} \mathcal{E}_{\omega}^{\mu}} = \overline{\mathfrak{L}^1 \mathfrak{L}^2 z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}} + \overline{\mathfrak{L}^1 z^{\varphi} \mathfrak{L}^2 z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}}$$

$$\overline{\mathfrak{L}^1 \mathfrak{L}^2 \mathfrak{L}^3 z^{\varphi} \mathcal{E}_{\omega}^{\mu}} = \overline{\mathfrak{L}^1 \mathfrak{L}^2 \mathfrak{L}^3 z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}} + \overline{\mathfrak{L}^1 \mathfrak{L}^j z^{\varphi} \mathfrak{L}^k z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}} + \overline{\mathfrak{L}^1 z^{\varphi} \mathfrak{L}^2 z^{\varphi} \mathfrak{L}^3 z^{\varphi} z^{\varphi} \mathcal{E}_{\omega}^{\mu}}$$

$$\overline{\partial_p \mathfrak{A}} = \mathfrak{K} p_{k \mathfrak{L}} z \mathfrak{A}$$

$$\overline{\partial_{\mathfrak{K} z} \mathfrak{A}} = \check{z} z \mathfrak{A}$$

$$\overline{\partial_{\mathfrak{K} z^k} \mathfrak{A}} = \check{z}^k z^k \mathfrak{A}$$